Exam 2 Review Topics 7 – 11

	
	X1
	X2
	X3
	

	Y1
	100             

                   116
	20

                  13
	18

                9
	138

	Y2
	526

                 510
	52

                  59
	30

                39
	608

	
	626
	72
	48
	746


Calculate conditional probabilities based on the table, such as what percent of X1 is in Y2, or What percent of Y2 is in X1 or what percent are X3?

Pr(X1 given Y1): 100/138 = .72

Pr(Y1 given X1): 100/626 = .16

Pr(X3): 48/746 = .06

Pr(X1 and Y1) = 100/746 = .134

Make a segmented bar graph.
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Is there is there a tendency or a dependence between the X and Y

In this graph there seems to be some dependence, the values are not that far from what we would expect, except in the x3 column where we are starting with smaller values, so any change appears more significant.

Given a bivariate table such as:

	 
	1
	2
	3
	4
	5
	Predict
	mean 
	Std dev
	r

	Explanatory
	15
	18
	19
	28
	32
	23
	22.4
	7.231874
	0.883685

	Response
	21
	25
	29
	30
	48
	 
	30.6
	10.35857
	

	expected
	21.2337
	25.0311
	26.2969
	37.6891
	42.7523
	31.3601
	30.60062
	
	

	residuals
	-0.2337
	-0.0311
	2.7031
	-7.6891
	5.2477
	
	
	
	


Calculate mean, standard deviation, correlation coefficient, proportion of variability, make a scatterplot.
[image: image2.wmf]explanatory vs. response

y = 1.2658x + 2.2467

R

2

 = 0.7809

0

20

40

60

0

10

20

30

40

explanatory

Response

a = 2.246

b = 1.2658 

(as shown in diagram)

r2 = .7809

if x = 23 then we would expect y = 

Given the proper formulas determine the linear regression (y-hat = a + bx) , make a prediction such as if the explanatory variable is 23 what would you expect the response to be? How confident are we in this prediction?  Calculate a residual.
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